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ŸÊ◊Ê¢∑§ Roll No.

No. of Questions — 24  SS—40–2—Phy. II
No. of Printed Pages — 7

©UìÊ ◊ÊäÿÁ◊∑§ ¬⁄UËˇÊÊ, 2010

SENIOR SECONDARY EXAMINATION, 2010

flÒ∑§ÁÀ¬∑§ II ( OPTIONAL GROUP II — SCIENCE )

÷ÊÒÁÃ∑§ ÁflôÊÊŸ ó ÁmÃËÿ ¬òÊ
( PHYSICS — Second Paper )

‚◊ÿ — 3 
1
4  ÉÊá≈U

¬ÍáÊÊZ∑§ — 40

¬⁄UËˇÊÊÁÕ¸ÿÊ¥ ∑§ Á‹∞ ‚Ê◊Êãÿ ÁŸŒ̧‡Ê —
GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. ¬⁄UËˇÊÊÕË¸ ‚fl¸¬˝Õ◊ •¬Ÿ ¬˝‡Ÿ ¬òÊ ¬⁄U ŸÊ◊Ê¢∑§ •ÁŸflÊÿ¸Ã— Á‹π¥ –
Candidate must write first his / her Roll No. on the question

paper compulsorily.

2. ¬˝‡Ÿ ¬òÊ ∑§ Á„UãŒË fl •¢ª˝¡Ë M§¬ÊãÃ⁄U ◊¥ Á∑§‚Ë ¬˝∑§Ê⁄U ∑§Ë òÊÈÁ≈U / •ãÃ⁄U / Áfl⁄UÙœÊ÷Ê‚
„UÙŸ ¬⁄U Á„UãŒË ÷Ê·Ê ∑§ ¬˝‡Ÿ ∑§Ù ‚„UË ◊ÊŸ¥ –
If there is any error / difference / contradiction in Hindi and

English versions of the question paper, the question of Hindi

version should be treated valid.

3. ‚÷Ë ¬˝‡Ÿ •ÁŸflÊÿ¸ „Ò¥U –  ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 23 fl 24 ◊¥ •ÊãÃÁ⁄U∑§ Áfl∑§À¬ „Ò¥U –
All questions are compulsory. Question Nos. 23 and 24 have

internal choices.

4. ¬˝àÿ∑§ ¬˝‡Ÿ ∑§Ê ©UûÊ⁄U ŒË ªß¸ ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ „UË Á‹π¥ –
Write the answer to each question in the given answer-book only.

5. ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 2 ‚ 5 Ã∑§ •ÁÃ ‹ÉÊÍûÊ⁄UÊà◊∑§ ¬˝‡Ÿ „Ò¥U –
Question Nos. 2 to 5 are Very Short Answer type questions.



2

SS—40–2—Phy. II  SS–582-II    

6. ¡„UÊ° ÷Ë •Êfl‡ÿ∑§ „UÙ, ÁøòÊ ◊¢ ÁfllÈÃ œÊ⁄UÊ, ÁfllÈÃ ˇÊòÊ ∞fl¢ ¬˝∑§Ê‡Ê Á∑§⁄UáÊ ∑§Ë ÁŒ‡ÊÊ
ÁŒπÊßÿ –
Wherever necessary, show the direction of the electric current,
electric field and light rays in the diagram.

7. Á¡‚ ¬˝‡Ÿ ∑§ ∞∑§ ‚ •Áœ∑§ ‚◊ÊŸ •¢∑§ UflÊ‹ ÷Êª „Ò¥U, ©UŸ ‚÷Ë ÷ÊªÙ¥ ∑§Ê „U‹ ∞∑§ ‚ÊÕ
‚ÃÃ˜ Á‹π¥ –
For questions having more than one part carrying similar marks,
the answers of those parts are to be written together in
continuity.

8. ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 1 ∑§ øÊ⁄U ÷Êª ( i, ii, iii ÃÕÊ iv ) „Ò¥U – ¬˝àÿ∑§ ÷Êª ∑§ ©UûÊ⁄U ∑§ øÊ⁄U
Áfl∑§À¬ ( •, ’, ‚ ∞fl¢ Œ ) „Ò ¥ U  – ‚„UË Áfl∑§À¬ ∑§Ê ©UûÊ⁄UÊˇÊ⁄U ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥
ÁŸêŸÊŸÈ‚Ê⁄U ÃÊÁ‹∑§Ê ’ŸÊ∑§⁄U Á‹π¥ —
There are four parts ( i, ii, iii and iv ) in Question No. 1. Each
part has four alternatives A, B, C and D. Write the letter of the
correct alternative in the answer-book at a place by making a
table as mentioned below :   

¬˝‡Ÿ ∑˝§◊Ê¢∑§
Question No.

‚„Ë ©UûÊ⁄U ∑§Ê ∑˝§◊ÊˇÊ⁄U
Correct letter of the

Answer

1. (i)

1. (ii)

1. (iii)

1. (iv)

1. (i) ‚◊ÊŸ ÃËfl˝ÃÊ I 0  ∑§ ŒÊ ∑§‹Ê ‚ê’h dÊÃ ‚ ¬˝ÊåÃ √ÿÁÃ∑§⁄UáÊ ¬˝ÁÃM§¬ ◊¥ ◊Êäÿ ÃËfl˝ÃÊ
„UÊªË
(•) I 0  (’) 2 I 0  

(‚) 4 I 0  (Œ) 0.

The average intensity of interference pattern obtained from two
coherent sources of same intensity I 0  will be

(A) I 0  (B) 2 I 0  

(C) 4 I 0  (D) 0. 1
2  
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(ii) l  fl¥ ©U¬∑§Ê‡Ê ◊¥ ß‹Ä≈˛UÊÚŸ ∑§ ∑§ˇÊËÿ ∑§ÊáÊËÿ ‚¢flª ∑§Ê √ÿ¢¡∑§ „UÊªÊ

(•) h
2π   l ( l + 1 ) (’) 2π

h    l ( l + 1 ) 

(‚) 2π
l    h ( l + 1 ) (Œ) 2π

h    



 l + 

1
l     .

The expression for orbital angular momentum in l th   subshell of
an electron will be

(A)
h
2π   l ( l + 1 ) (B)

2π
h    l ( l + 1 ) 

(C)
2π
l    h ( l + 1 ) (D)

2π
h    



 l + 

1
l     . 1

2  

(iii) •h¸-øÊ‹∑§Ê¥ ◊¥ øÊ‹Ÿ „UÊÃÊ „ÒU
(•) ∞∑§‹ œ˝ÈflËÿ (’) Ámœ˝ÈflËÿ
(‚) ÁòÊœ˝ÈflËÿ (Œ) •œ˝ÈflËÿ –
Conduction in semiconductor is

(A) unipolar (B) bipolar

(C) tripolar (D) non-polar. 1
2  

(iv) ©UìÊÃ◊ flœŸ ˇÊ◊ÃÊ ∑§Ë Ã⁄¢Uª „ÒU
(•) •fl⁄UÄÃ Ã⁄¢Uª (’) ¬⁄UÊ’Ò¥ªŸË Ã⁄¢Uª
(‚) ∞Ä‚-Á∑§⁄UáÊ (Œ) ªÊ◊Ê Á∑§⁄UáÊ – 
Wave of the highest penetration power is

(A) infrared wave (B) ultraviolet wave

(C) X-ray (D) gamma ray. 1
2  

2. äflÁŸ Ã⁄¢UªÊ¥ ◊¥ œ˝ÈfláÊ ¬˝ÁˇÊÃ ÄÿÊ¥ Ÿ„UË¥ „UÊÃÊ „ÒU ?
Why is the phenomenon of polarisation is not observed in sound
waves ? 1

2  

3. „UÊß«˛UÊ¡Ÿ ¬⁄U◊ÊáÊÈ ∑§Ë ÃÎÃËÿ ∑§ˇÊÊ ∑§Ë ÁòÊÖÿÊ 4·77 Å „ÒU, ÃÊ ¬˝Õ◊ ∑§ˇÊÊ ∑§Ë ÁòÊÖÿÊ ôÊÊÃ
∑§ËÁ¡∞ –
Radius of third orbit of hydrogen atom is 4·77 Å. Find the radius of its
first orbit. 1

2  
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4. ŸÒ¡ •h¸-øÊ‹∑§ ∑§Ë Á∑˝§S≈U‹ ‚¢⁄UøŸÊ ∑§Ê ŸÊ◊ Á‹Áπ∞ –
Write the name of crystal structure of intrinsic semiconductor. 1

2  

5. •Ê∑§Ê‡Ê Ã⁄¢Uª ‚¢ø⁄UáÊ ◊¥ ‚Íˇ◊ Ã⁄¢Uª ÄÿÊ¥ •Áœ∑§ ©U¬ÿÈQ§ „Ò ?
Why are microwaves more suitable for sky wave propagation ? 1

2  

6. ¬˝∑§Ê‡Ê ∑§ √ÿÁÃ∑§⁄UáÊ ∞fl¢ ÁflflÃ¸Ÿ ◊¥ ∑§Êß¸ ŒÊ •ãÃ⁄U Á‹Áπ∞ –
Write any two differences between diffraction and interference of

light. 1

7. ß‹Ä≈˛UÊÚŸ ∑§ ÁflÁ‡Êc≈U •Êfl‡Ê ôÊÊÃ ∑§⁄UŸ ∑§Ë ÕÊ◊‚Ÿ ÁflÁœ ◊¥ ¬˝ÿÈQ§ ©U¬∑§⁄UáÊ ∑§Ê Sflë¿U ∞fl¢
ŸÊ◊Ê¢Á∑§Ã ÁøòÊ ’ŸÊß∞ –
Draw neat and labelled diagram of an apparatus used in Thomson’s

method to determine specific charge of an electron. 1

8. ‚◊ÊŸ ŒË-’˝ÊÇ‹Ë Ã⁄¢UªŒÒÉÿ¸ ∑§ Á‹∞ ∞À»§Ê ∑§áÊ ∞fl¢ ¬˝Ê≈UÊÚŸ ∑§Ê àflÁ⁄UÃ ∑§⁄UŸ ∑§ ÁfllÈÃ Áfl÷fl
V α   ∞fl¢ V p  ∑§Ê •ŸÈ¬ÊÃ ôÊÊÃ ∑§ËÁ¡∞ –
Find out the ratio of accelerating electric potential V α   and V p  for

equal de Broglie wavelength of alpha particle and proton. 1

9. ¬˝∑§Ê‡Ê ÁfllÈÃ ‚‹ ‚ å‹Ê¢∑§ ÁŸÿÃÊ¢∑§ ∑§Ê ◊ÊŸ ôÊÊÃ ∑§⁄UŸ ∑§Ê ŸÊ◊Ê¢Á∑§Ã ÁøòÊ ÃÕÊ ÁŸ⁄UÊœË
Áfl÷fl ∞fl¢ •Ê¬ÁÃÃ ¬˝∑§Ê‡Ê ∑§Ë •ÊflÎÁûÊ ∑§ ◊äÿ fl∑˝§ ’ŸÊß∞ –

Draw labelled diagram to determine the value of Planck’s constant

using photocell and the curve between stopping potential and

frequency of incident light. 1
2  + 12  = 1

10. ŸÊÁ÷∑§Ëÿ ’‹ ∑§Ë ∑§Êß¸ ŒÊ Áfl‡Ê·ÃÊ∞° Á‹Áπ∞ – 
Write any two properties of nuclear force. 1

11. ÁfllÈÃ ŒÊÁ‹òÊ ∑§Ê ¬Á⁄U÷ÊÁ·Ã ∑§ËÁ¡∞ – •ÊflÎÁûÊ ¬⁄UÊ‚ ∑§ •ÊœÊ⁄U ¬⁄U ŒÊÁ‹òÊÊ¥ ∑§ ŸÊ◊ Á‹Áπ∞ –
Define electric oscillator. Write the names of oscillators on the basis of
frequency range. 1

12. Ám-ÁŸfl‡ÊË •Á¬ ( OR )  mÊ⁄U ÃÕÊ Ám-ÁŸfl‡ÊË •Õ ( AND )  mÊ⁄U ∑§ ¬˝ÿÊª ◊¥ ÁŸª¸◊ ∞∑§
„ÒU – ÁŸfl‡ÊË ‚¢∑§ÃÊ¥ ∑§Ë ŒÊ •flSÕÊ∞° Á‹Áπ∞ , ¡’ ŒÊŸÊ¥ mÊ⁄U ◊¥ ÁŸª¸Ã ‚¢∑§Ã ‚◊ÊŸ ¬˝ÊåÃ „UÊ –
Two-input OR gate and two-input AND gate experiments have one
output. Write the two stages of input signals when output signal is
same for both the gates. 1
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13. •ÊÿŸ ◊á«U‹ ∑§Ê ÁŸ◊Ê¸áÊ Á∑§‚ ¬˝∑§Ê⁄U „UÊÃÊ „ÒU ? ß‚∑§Ê ÄÿÊ ©U¬ÿÊª „ÒU ?
How is ionosphere is formed ? What is its use ? 1

14. „UÊßªã‚ ∑§ Ã⁄¢Uª Á‚hÊãÃ ‚ ¬˝∑§Ê‡Ê ∑§ ¬⁄UÊflÃ¸Ÿ ∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞ – •Êfl‡ÿ∑§ ÁøòÊ  
’ŸÊß∞ –
Explain the reflection of light by Huygens' wave theory. Give
necessary diagram. 1 

1
2  + 1

2  = 2

15. 10 – 6  ◊Ë≈U⁄U √ÿÊ‚ ÃÕÊ 880·5 Á∑§‹Êª˝Ê◊ / ◊Ë≈U⁄U 3  ÉÊŸàfl flÊ‹Ë ∞∑§ Ã‹ ’Í¢Œ
10 Á◊‹Ë ◊Ë≈U⁄U ‚ ¬ÎÕÄ∑Î§Ã å‹≈UÊ¥ ∑§ ◊äÿ ÁSÕ⁄U ⁄U„UÃË „Ò¥U – å‹≈UÊ¥ ∑§ ◊äÿ Áfl÷flÊãÃ⁄U
36 flÊÀ≈U „Ò – Ã‹ ’Í¢Œ ¬⁄U ß‹Ä≈˛UÊÚŸÊ¥ ∑§Ë ‚¢ÅÿÊ ôÊÊÃ ∑§ËÁ¡∞ – ( g = 10 ◊Ë≈U⁄U/‚∑§á«U 2  ).
An oil drop of diameter 10 – 6  metre and 880·5 kilogram/metre 3 

remains stationary between the plates separated by a distance of

10 millimetre. The potential difference between plates is 36 volt. Find

the number of electrons on the oil drop. ( g = 10 m/sec 2  ). 2

16. X-Á∑§⁄UáÊ ‚¢ÃÃ˜ S¬Ä≈˛U◊ ◊¥ •¢Ã∑§ Ã⁄¢UªŒÒÉÿ¸ ∑§Ê √ÿ¢¡∑§ ¬˝Ê# ∑§ËÁ¡∞ –  0·01 Å  Ã⁄¢UªŒÒÉÿ¸ ∑§Ë
X-Á∑§⁄UáÊÊ¥ ∑§Ë ¬˝∑Î§ÁÃ Á‹Áπ∞ –
Obtain an expression for cut-off wavelength in X-ray continuous
spectrum. Write the type of X-rays of 0·01 Å wavelength. 1 

1
2  + 1

2  = 2

17. º˝√ÿ Ã⁄¢Uª Á‚hÊãÃ ∑§Ë ‚„UÊÿÃÊ ‚ ’Ê⁄U ∑§ ÄflÊ¢≈U◊ ¬˝ÁÃ’ãœ ∑§Ê S¬c≈UË∑§⁄UáÊ ŒËÁ¡∞ –
Give explanation of Bohr’s quantum condition on the basis of the

principle of matter waves. 2

18. (i) „UÊß¡Ÿ’ª¸ ∑§Ê •ÁŸÁ‡øÃÃÊ Á‚hÊãÃ Á‹Áπ∞ –
(ii) ¬˝∑§Ê‡Ê ÁfllÈÃ ‚‹ ◊¥ ¬˝ÿÈQ§ ∑Ò§ÕÊ«U ∑§Ê ¬Îc∆UËÿ ˇÊòÊ»§‹ •Áœ∑§ ÃÕÊ ‚ËÁ¡ÿ◊ ‹Á¬Ã ÄÿÊ¥

„UÊÃ „Ò¥U ?
(i) Write Heisenberg’s uncertainty principle.

(ii) Why the cathode of photoelectric cell is of large surface area and
cesium coated ? 1 +  

1
2  + 1

2  = 2

19. ÕÊÁ⁄Uÿ◊-227 ∑§Ë •ÊÒ‚Ã •ÊÿÈ 2·74 fl·¸ ∞fl¢ ‚Á∑˝§ÿÃÊ 37 ⁄UŒ⁄U»§Ê«¸U „Ò – ÕÊÁ⁄Uÿ◊ ∑§Ë ◊ÊòÊÊ
ôÊÊÃ ∑§ËÁ¡∞ –
Average life of Thorium-227 is 2·74 years and activity is

37 rutherford. Find out the mass of Thorium-227. 2
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20. (i) •ÁŸÿÁ◊Ã ‡ÊÁQ§ ¬˝ŒÊÿË ∑§Ê flÊÀ≈UÃÊ ÁŸÿ◊Ÿ Á∑§‚ ¬˝∑§Ê⁄U Á∑§ÿÊ ¡ÊÃÊ „ÒU ?
(ii) P-N  ‚¢Áœ ∑§ Á‹ÿ Áfl÷fl ¬˝ÊøË⁄U ∑§Ê •ÊÒ‚Ã ◊ÊŸ 0·36 flÊÀ≈U „ÒU – ‚¢Áœ ¬⁄U

1·8 × 10 2  Á∑§‹ÊflÊÀ≈U / ◊Ë≈U⁄U ∑§Ê ÁfllÈÃ ˇÊòÊ ©U¬ÁSÕÃ „ÒU – ß‚ ‚¢Áœ ∑§ Á‹∞
•flˇÊÿ ¬⁄UÃ ∑§Ë ◊Ê≈UÊß¸ Á∑§ÃŸË „UÊªË ?

(i) How is voltage regulation done for unregulated power supply ?

(ii) Average value of potential barrier for P-N junction is 0·36 volt.

Electric field present at that junction is 1·8 ×  10 2 

kilovolt/metre. What will be the thickness of depletion layer for

this junction ? 1 + 1 = 2

21. Á‚h ∑§ËÁ¡∞ Á∑§ ÁfllÈÃ-øÈê’∑§Ëÿ Ã⁄¢Uª¥ •ŸÈ¬˝SÕ ¬˝∑Î§ÁÃ ∑§Ë „UÊÃË „Ò¥ – ÁfllÈÃ-øÈê’∑§Ëÿ Ã⁄¢UªÊ¥
∑§ ™§¡Ê¸ ç‹Ä‚ ‚ÁŒ‡Ê ∑§Ê ‚ÍòÊ Á‹Áπ∞ –
Prove that electromagnetic waves are transverse in nature. Write the
formula of energy flux vector of electromagnetic waves. 1 

1
2  + 1

2  = 2

22. β-∑§áÊ ©Uà‚¡¸Ÿ ◊¥ ¬⁄U◊ÊáÊÈ ∑˝§◊Ê¢∑§ ∑Ò§‚ ¬Á⁄UflÁÃ¸Ã „UÊÃÊ „ÒU ? ãÿÍÁ≈˛UŸÊ ¬Á⁄U∑§À¬ŸÊ ‚ β-ˇÊÿ ◊¥
™§¡Ê¸ ‚¢⁄UˇÊáÊ ∞fl¢ ∑§ÊáÊËÿ ‚¢flª ‚¢⁄UˇÊáÊ ∑§Ê ‚◊¤ÊÊß∞ –
’¢œŸ ™§¡Ê¸ ¬˝ÁÃ ãÿÍÁÄ‹•ÊÚŸ ∞fl¢ º˝√ÿ◊ÊŸ ‚¢ÅÿÊ ◊¥ fl∑˝§ πË¥Áø∞ ÃÕÊ ß‚◊¥ ŸÊÁ÷∑§ ∑§
•Áœ∑§Ã◊ SÕÊÁÿàfl ∑§Ë º˝√ÿ◊ÊŸ ‚¢ÅÿÊ ¬⁄UÊ‚ Œ‡ÊÊ¸ß∞ –
How does atomic number change in β-particle emission ? Explain

conservation of energy and conservation of angular momentum in

β-decay by neutrino hypothesis.

Draw the curve between binding energy per nucleon and mass

number. Show the range of mass number where nuclei are most
stable. 1 + 2 + 1

2  + 12  = 4

23. ∑§‹Ê ‚ê’h dÊÃ ∑§Ê ¬Á⁄U÷ÊÁ·Ã ∑§ËÁ¡∞ – »˝§Ÿ‹ ÁmÁ¬˝Ö◊ ◊¥ ßã„¥U ∑Ò§‚ ¬˝ÊåÃ ∑§⁄UÃ „Ò¥U ? »˝§Ÿ‹
ÁmÁ¬˝Ö◊ ¬˝ÿÊª ∑§Ê ŸÊ◊Ê¢Á∑§Ã ÁøòÊ ’ŸÊ∑§⁄U ∞∑§fláÊË¸ ¬˝∑§Ê‡Ê ∑§Ë Ã⁄¢UªŒÒÉÿ¸ ôÊÊÃ ∑§⁄UŸ ∑§Ê ‚ÍòÊ
SÕÊÁ¬Ã ∑§ËÁ¡∞ –

•ÕflÊ
ÁflflÃ¸Ÿ ∑§Ê ¬Á⁄U÷ÊÁ·Ã ∑§ËÁ¡∞ – ¬˝∑§Ê‡Ê ∑§Ë •¬ˇÊÊ äflÁŸ ◊¥ ÁflflÃ¸Ÿ •Ê‚ÊŸË ‚ ¬˝ÁˇÊÃ ÄÿÊ¥
„UÊÃÊ „Ò ?  »˝§Ÿ‹ ∑§ n fl¥ •hÊ¸flÃË¸ ∑§Á≈U’¢œ ∑§Ê Sflë¿U ∞fl¢ ŸÊ◊Ê¢Á∑§Ã ÁøòÊ ’ŸÊß∞ ÃÕÊ n fl¥
∑§Á≈U’ãœ ∑§Ê ˇÊòÊ»§‹ ôÊÊÃ ∑§ËÁ¡∞ , ¡’ Ã⁄¢UªŒÒÉÿ¸ ∑§Ë ©UìÊ ÉÊÊÃ¥ ©U¬ˇÊáÊËÿ Ÿ„UË¥ „Ò¥U –
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Define coherent sources. How are they produced in Fresnel’s  

biprism ? Draw the labelled diagram of Fresnel’s biprism experiment

and derive the formula for determination of wavelength of

monochromatic light. 1
2  + 12  + 1 + 2 = 4

OR

Define diffraction. Why is diffraction easily observed in sound than

light ? Draw neat and labelled diagram of Fresnel’s n th  half period

zone and determine area of the nth Fresnel’s half period zone when

higher order powers of wavelength is not neglected.
1
2  + 12  + 1 + 2 = 4

24. P-N  ‚¢Áœ «UÊÿÊ«U ∑§Ê ÁŸ◊Ê¸áÊ Á∑§‚ ¬˝∑§Ê⁄U ∑§⁄UÃ „Ò¥U ? ‚¢Áœ «UÊÿÊ«U ∑§Ë ©Uà∑˝§◊ •Á÷ŸÁÃ ∑§Ë
¬˝ÊÿÊÁª∑§ √ÿflSÕÊ ∑§Ê ŸÊ◊Ê¢Á∑§Ã ¬Á⁄U¬Õ ’ŸÊ∑§⁄U ‚◊¤ÊÊß∞ – •ª˝ ∞fl¢ ©Uà∑˝§◊ •Á÷ŸÁÃ ◊¥
•Á÷ŸÁÃ flÊÀ≈UÃÊ ∞fl¢ œÊ⁄UÊ ∑§ ◊äÿ ‚ê’ãœ ŒËÁ¡∞ –

•ÕflÊ

©U÷ÿÁŸc∆U ©Uà‚¡¸∑§ ‚¢⁄UøŸÊ ◊¥ P-N-P ≈˛UÊ¢Á¡S≈U⁄U  ∑§Ë ¬˝ÊÿÊÁª∑§ ¬Á⁄U¬Õ ∑§Ê ŸÊ◊Ê¢Á∑§Ã ÁøòÊ
’ŸÊß∞ – ÁŸª¸Ã •Á÷‹ÊˇÊÁáÊ∑§ fl∑˝§Ê¥ ◊¥ ‚Á∑˝§ÿ ˇÊòÊ ‚◊¤ÊÊß∞ – ©Uà∑˝§◊ ªÁÃ∑§ ¬˝ÁÃ⁄UÊœ ∞fl¢
ªÁÃ∑§ œÊ⁄UÊ ¬˝flœ¸Ÿ ªÈáÊÊ¢∑§ ∑§Ë ¬Á⁄U÷Ê·Ê Á‹Áπ∞ –

How is P-N junction diode fabricated ? Explain reverse biasing of

junction diode by drawing experimental labelled circuit diagram. Give

relation between bias voltage and current for forward bias and reverse

bias. 1 + 1 + 1 + 1 = 4

OR

Draw the experimental labelled circuit diagram for P-N-P transistor in

common emitter configuration. Explain active region in output

characteristic curves. Define reverse dynamic resistance and dynamic

current amplification factor. 1 + 2 + 1
2  + 12  = 4

                  


